(DF(1)=3X°-7X>+2X"-X*-6X-8 (X+2)
" Solution"

X+2 =0 X=-2
5 3 75 1 6 -8
-6 -26 -42 -14 86

| 3 -13 21 43 20 R=78
Q (X)=3X"-13X" - 43X° - 20X* -20
R="78
Q) FX)=5X"-7X’+6X*-2X+4 (X-1)
" Solution"

X+l =0 X=1

1 5 0 -7 6 -2 4

2

| 5 5 2 4 2 R=6
Q(X) =5X"+5X° - 2X* + 4X+2

B)F(X)=X"-5X"+9X’ - 6X° - 6X*> - 16X + 13
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(X2 -3X+2)
"Solution"

X*-3X+2=0 (X-2)(X-)=0 X=2,1

5 1 -5 9 -6 -16 13
2 6 6 0 -32
) 1 3 3 0 -16 R,=19
1 2 1 1
1 2 1 1 -5 R,=-15

QX)=X—2X*+X+
R=R,(X-a)+R;=-15(X-2)+19 R=-15X+49
(4) E(X)=3X"-2X>+5X>+4X-3  (2X+3)

" Solution"

-3
2X+3=0 X= 2

= 3 2 5 4 -3
45 975 7125 -16.687
3 6.5 -4075 11.125 R=19.687

Q (X)=4.5X>+9.75X*=7.125X + 16.687

(3)F(X)=5X"-3X>-2X*-3X+1 (X-2)(2X-3)

" Solution"
X2=0 X=2) & 2X-3=0 X=—
" 5 3 2 -3 1
10 14 24 42

5 7 12 21 R;=43
75 21.75 50.625
5 145 33.75 R,=71.625
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Q (X) =7.5X*+21.75X + 50,625
R=R,(X-a)+R;=71.625(X-2)+43 R=

35

(1) F(X)=X"*3

F(1)=-3 F(2)=16-3=13
F(0.5)=2.937 F(3)=8l

F(4) =253 F(5) = 622

Ab

(1,2)
. = an F(bn) — bn F(an) _ _(IX13)—-(2X-2)
: F(bn) — F (an) (13-(-2)
=1.133=C

X;=1.133

F (X)) =(1.133)"-3=-1.3502 (1.133 2)
an+1=C bn +1 =bn

an+1=1.133 bn+1=2

(1.133 X13) — (2X- 1.35)
13 + 1.3502

F (X,) = -2.506 (,8382 2)

X, = =,8382=C

an+2=,8382 & bn+2=2
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(2) F(X) =X’ -5X-5
F(1)=-10 F(2)=-8
F(,5)=-8.375 F(3)=6

F4)=38  F(5)=94
A Db
(2.3)
X = an F(bn) — bn F(an) _ (2X6)-(3X-8)
~’ 57— F(bn)—F (an) 6+8

F(X)) =(2.57)’ — (5X2.57) -6 = -1.85
(3 2.75)

an +1 =2.57 bn+1=3

X, =2.67

F(X,) =,6841

an +2 =2.67 bn+2=3

(2.67.3)

Xy =2.627

an +3 =2.627

(3) F(X) = X°-2X-5

F(1)=-6 F(2)=-1
F(,5)=-5.875 F(3)=16
F(a) =51 F(5)=110
Ab
(2.,3)
X, = an F(bn) — bn F(an) __(2X16)—-(3X-1)
:12 os  F(bn)—F (an) 16 + 1
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F(X)) = (2.058)° — (2X2.058) -5 = -3996
(2.058 3) -

an +1 =2.058 bn+1 =3
X,=2.0809
F(X;)=0.1512 (2,0809,3)

an +2 =2,0809 bnt2 =3
X5 =2,0895
an +; = 2,0895

(1) F(X) = X*-5X +3

" Solution"
. _FXn) _ ., X’n-5Xnt3
Xn +1 =Xn = (Xn) Xn 33X 5
F(1)=-1 FQ2)=1 a b
F(3)=15 F(4) =47 (1,2)
X,= _1+2 X1 = X0 - X30—25XO+3 _
2 3X°0-5

2.1428 n=0
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X, =,656619

X;=,656617
X, =, 656616
X4
F(X) (1,2)
1 0 5 3
2 2 4 -2
1 2 1 R;=
2 2 0
1 0 R,=-1
2
g(Y)=Y' -Y+1
g(Y)=-Y+I -Y+1=0 Y-=I
1
1 -1 1
1-1 y 0
| 1 0 =1
(1)
Y’-1=0 Y=I
3:
( )

F(X)=X -5X +3
F(1)=-1 F(2) =1
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F(3)=15 F(4) = 47

b

_ _anF(bn)—bnF(an) 4
X1 = F(bn)— F(an) (1,2)

_ (1X+1)—(2X-1) 1+2 3
Xl_ ( —S
_C 1-(-1) 2 2
(15.,2)

F(X))=(1.5) = (5X1.5)+3=-1.125

an +1 =C bn +1 =bn

an+t1=15  bn+l=2

X, = _(LSX+1)=(2X-1)  _jg4-
1+1.125

(1.64,2)

an+1 = 1.64 bn+l1=2 F(1.64)=-,78

X;=1.79 X3

() F(X)=X"- X’ -2X - 34
" Solution"

X4n—X3n—2Xn—34( )

4X°n — 3X°n -2

F(1)=-36 F(2)=-30

F(3)= 14 F(4) =150 (2,3)
2193 -
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X, = a J2r b 525 75
Q2.7 = (2.7) - (2X2.7) -34

(42.7°) - 3(2.7)%) -2

Xy =2.7- =2.80825

X,=2.80141
X3=2.80137

1 R&7 Qn =1
2
g(Y)=Y"+7Y + 18Y>-30

18Y?+18Y-30

vo -18) (18)2-(4x30x18)  _ . . 1

=-1.8 ,8
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1 7 18 18 -30
8  6.24 19.3  29.84
1 7.8 2424 373 R=,16
3 688 248
1 8.6 31.12 R,=62.2
8  1.52
1 94 R;=38.64
3

1 Rs&=10.2

Qn=1
8
H(Z)=Z"+ 1027’ - 38.6Z> + 62.2Z - ,16
-38.6Z> + 62.2Z - ,16

2+,84+,06=2.86

( )
FX)=X'-X-2X-34
F(1)=-36 F(2) =-30
F(3) = 14 F(,5) =-35.06
F(2.5)=-15.56
a b

2.5 3)

X, = an F(bn) —bn F(an) _ )3 (2.5%14) — (3%-15.56)

F(bn) — F(an) 14+ 15.56
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F(2.8)=-,086 -09 (2, ,3)

an+1=2.8 bn+1=3
X,=2.6
F(2.6) =11.08 (2, ,3):
an+2=2,6 bn+1=3
X;3=2.7

(1)

F(X)=3X’—7X° + 5X* - X* — 6X-8
" Solution"
X+2=0 X=-2

, |3 T 5 0 -1 -6 -8
6 26 -62 126 -250 512
3 13 13 62 125 -256 R=
504
Q(X)=3X"-13X"++31X°— 62X + 125X — 256
(2)
F(X)=5X"-7X>+6X*—2X + 4 (X-1)
" Solution"
X-1=0 X=1
2‘ 5 0 -7 6 -2 4




Q(X) =5X"+5X° — 2X* + 4X+2
3)

FX)=X" —4X*+9X° - 6X* - 16X+13  (X*-3X+2)
" Solution"
X*-3X+2=0 X=-2 -1

> 1 4 9 6 -16 13
2 12 -4 96 -160
1 -6 12 48 80 R=-147
QX)=X"-6X>+21X* - 48X + 80
F(X)=2X-8X" +5
(h(X) 2 (F(X) (e¥
X9 3
" Solution"
P 2 -8 0 5
4 24 -48
2 -12 24 R,=-43
-4 32
2 -16 R, =56
-4
2 R3=-20
Q=2
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G(X)=QuX).X"+pn.X""+R,

G(X) =2X>—20X*— 43

(X-3) X=3
2 2 20 -43
6 42
2 -14 R, =-1
6
2 R2 = -8
Q=2
gX) 3
h(X)=2X" - 8X*— 1
2
FX)=X"-2X’-3X*-5X+4
" Solution"

(X+2) Xs-—2
1 2 3 5

2 2 48 -10

-2 12

1 4 +5 -15 R,=34

-2 16

1 -6 17 R,=-49

2

1 -8 R3;=33

1 Ry=-10

Q=1
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G(X)=X"- 10X + 34

(D3X+X*—11X+6=0

" Solution"
F(Xn 3X°n+X*n-11Xn+6
Xn +1=Xn -0 _xp
" i F'(X'n) 1 gX’n+2Xn- 11

F()=3+1-11+6=-1 & FQ)=24+4-22+6
=12
F(,5)=1.125 & F(1.5)=1.875

F(-1)=15 & F(-2)=8 (,5 1)
n=>0
atb
2
X() = :,75
X, = X0 - 3X0+X°0 ~11X0+6  _ 75 _

2X%0 +2X0 - 11
(3X(075))+(,75)*(11X,75)+6
@X( 57+ 2X.75) - 11 =,0599
(3X(,65)°) + (,6549)°-(11X,6549) +6
(gX(,6549))’n + (2X,6549) - 11

X, =,6549 -
=,66065

X, = 6665 - (3X(,6665)) + (,6665)> — (11X,6665) +6
— 6666 (g X(,6665)") + (2X,6665)-11

(2)2X’ +3X-4=0
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" Solution”

2X’n+3Xn-4
Xn+1Xn- o0 13
F(1)=1 F(2)=18
F(,5)=-2.25 F(1.5)=725 (,5 1)
F(-1)=-9 F(-2) = -26
Xo= 222 =75
) ) 2X(,75)%) +(3X,75)-4
Xl — X() _ 2X032 +3X0 4 — ’75 _ ( ( ) ) (2 )
6X°0+3 (6X(,75))+3
=,84801
X, =,85043
X5 =,85073 :
47
a) -[ ™=22/7]) - (8) -
"(1)X°-18X-35=0
" Solution”
a=-18 =-35

= (2 (D= (e 22 )
90.25 O3
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m> —35m+ 216 =0
(m-8)(m-27)=0
m1+8 m2=+27

L=m=+2 n=m,=+3

(+5, +2w+3w2, +2w2 +3w)

)X - 12X+16=0

" Solution”
A= (@3)+( b2?) = (12 )+ (16 2 =0
( )
m’+ 16m+64=0
(m+8)(m+8)=0
m1=m2=-8
L=m-L =22 l=n=-2
3 -
(-4,+2,+2)

B) X’ +6X°+9X+3=0
" Solution"

al
3a0

X=Y - =Y-%=Y—2
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1 6 9 3
-2 -2 )
1 4 1 R-=1
-2 2 4
1 2 R=23
=2 D
1 0
1
Y3_3Y+1=0
a=-3 b=1
A= P =3 (L= >0
375 3 2 4
P (A Cos0 = —P
3 2r
B ]
r=1 Cos0 —
=120 . a= 2™M/3
2Cos 2 TMB; 2k :k=0,1,2:
LS
at: k=0 —2Cos 2t g M0 1.99985
at: k=1 —2Cos 2™™F 6T =1.00762
9
at: k=2 —2Cos 2t g M2 199272
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4) X'+ 6X°+12X*+ 14X +3=0

" Solution”
a==a6 b=12 c=14 d=3
X'+ 6XP =-12X* - 14X -3

2
(X*+ %X+L2)= S—X2+L2+2LX2+6LX—

12X? — 14X -3

(X*+3+L%)=9X>+L*+2LX*+ 6LX + 6LX — 12X*

— 14X -3

(X*+3X+L)Y=-3X>+2LX+6XL—-14+1L3-3=
X*(-3+2L)+2X(3L-7)+L*-3

(X*+3X+L)Y=(mX+n)2m2X* + 2mnX+ n2

m>=(-3+2L)

n*=1*-3

mn =3L -7

(-3+2L)(L*-3)=(3L-7)

BL*+9+2L° —6L =9L°+49 —42L +2L° — 12L* +

36L—40=0

m’=(-3+2L)=1 ,m=+1
n“=(4-3)=1 ,n=+1
+(X-1)+(mX+n)
X2+3X+2=X-1
X*+2X+3=0
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(X+3)(X-1)=0, X=-3 X=1
X +3X +2=-X+1
X*+4X+1=0

4+ 16-14 -4+ 12

X = 5 = .

=2+ §3

(-3 1),(-2+83)
(5) X*+32X-60=0

" Solution"
a=0 b=0 c=32 d=60
X'+ 0X>+32X-60=0
X'+ 0X’ =-32+ 60
(X*+0+L)Y=X"+L"+2LX"
X'=(X*+L) -L*-2LX’
32X +60=(X+L) -L*-2LX’
(X*+L)*=L%+ 2LX*-32X+60 = 2LX> — 32X + L* + 60
(mX +n)*=m2X’ + 2mn + n’
2mn = -32
mn=-16
m°n® = 256
2L (L*+60) =256
217+ 120L — 256 =0

L=2
~m’=2L=4
=+2
n*=1L>+60=4+60=64
n—+8

(mX+n)=+(2X-8)
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X?+2=2X-8
X2-2X+10=0
(X-5)(X+2)=0, X=5 X=-2

X +2=-2X+38

X2+2X-6=0
(X+4)(X-2)=0,X=-4 X=2

(5 -2),(-4 2)
6) X’ - 12X-16=0
"Solution"
a=-12 =-16
b a -16 -
A=( —— )2+(T )y =( —5 )+ ( —132 ’
= Z€1o0

m” + bm — ( %)3=0

m>— 16m + 64 =0
(m—8)(m-8)=0

m=+38
L=3 m=+2
(+4,-2,-2)
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(MN(X-3)(X-5)(X+6)(X+8)=504
" Solution"

a=6 =-97 c =258 d=-168
(X-3)(X-5)=X2-8X+15 (1)
(X-6)(X-8)=X*-14X+48 (2)
(X?-8X+15)(X*+ 14X +48)=X"+ 14X + 48X —
8X° — 112X* — 384 + 15X> + 210X + 720 = 504
X*+6X3 - 97X+ 258X — 168 =0

X* +6X3 - 97X + 258X — 168

36
4

(X2+3X+L) =(
X +L*+ 168

+2L+97)X*+ (6L —258)

(X*+3X+L)Y=(9+2L+97)X*+(6L—-258)X +
L*+ 168

(X*+3X+L)Y=(mX+n)

m>=9 +2L +97

n°=L2+ 168

mn = 6L — 258 — 6L — 258

m’n’ = % (mn )2

(0420 +97)(L2+168)= —— (6L+258 )’ = ——
(L+43)

L2 —1512+2L° +336L + 971 + 16296 =
%L2+ 846 L+ 18449 X4

36L°—6048+81.°+13441.+388L.°+65184=1.+861+1849
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8L° +423L% + 1258 + 57287 =0

L
L=y-_—2al _—y_. 43 _v_ 4
3a0 3
141 8 423 1258 57287
1128 99405 -14193483
8 -705 100663 R, =-
-141 14136196
-1128 258453
8 -1833 R, — 359116
-141 -1833
8 0
8Y>? +359116Y — 14136196 =0
Y3 + 892L9 Y —1767024,5=0

a =44889,5 b=-1767024,5

=( % )3 +( % )2 =4,130792397X1012 >>> 0

m” — 1767024,5m — 124081426000 = 0

-(-1767024,5)+ (- 1767024,5)2 — ( 4X1X — 12408142600 )
m =
2
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m' = 18346564 & m’=-67631,9
(163,1 , 1424w +40.7w" , 122,4w" +40,7w )

(8) X’ - 12X-9=0
" Solution"
a=-12 b=-9

A= ( +a>+<—>—< '12>+( ) =-
43,75 <D

a
r= - (73" y=8  CosO= %=-,5625

o= 12422 = 69 ™

k=0,1,2
69TM
at: k=0 =4Cos’f =1,99985
at: k=1 = 4Cos((,69™ + 2™ )/3 ) =3 9951
TM4 4 T™

at: k=2 =4Cos 00 3 =1,99272
(9)X°-3X+1=0

" Solution"
a=-3 b=1
A_(—)+( 2 )y =(—— )+(—)—-75<0
_ a3 _ _ L
r= - 3 ) 1=1 CosO 5
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O =600 =

2 Cos k=0,1,2
™
k=0, —2Co0s +9zer° ~ 1,99996
T™M4 ™™
k=1, ~2Cos 5 = 1,99818
k=2, ~2Cos TM+912 o —1.99373
60
(1)
1) LU S
Ixx 2X%3 n+1
Solution
n=1,2
n=k
n=k+l1
At n=1
L.H»S=L=1/2
1x2
R.H.S=L=l/2 SLHS=RHS
1+1
At n=2
LHS=1:1_2
2 6 3
RJT—[.S=L=z ~LHS=RHS
2+1 3
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n =k
1 1 k

St —t .tk =—
Ix2 2x3 k+1

At n=k +1

L+L+...+k +(k +l):w
Ix2 2x3 (k +2)
1 1 k
LHS =[—+——+...+k]+k+)=——+Fk +1
Ix2 2x3 k+1
k+ k41’ k143K 41k +1

k+1 k+1  1+2

(2)
3) n=n+1

At n=1
LHS=1
RHS=1+1="2"=1 ~ LHS=RHS

At n=2
LHS=2
RHS=2+1="3"=2 ~ LHS=RHS

n=k
s "k=k+1"
At n=k+1

"k+ 1" — Hk+ 2"

LHS=["k"]+1

S LHS=[k+1]1+1=k+2= RHS
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~ LHS = RV.S

@) 1-22+3 -4+ + (1) = (1t 2t

2

At n=1
LHS=(+1)
RHS= (- 1)0&_ ~LHS=RHS
At n=2
LHS=1-2°=1-4=23
RHS = (-nz—l@:-s < LHS=RHS

At n=k

=22 43 — ++(=-D)T=k = (=) k (k2+ 1

At n=k+1

=22 43— b4 (=) =k 2 4 (=) (k1) = (-1t DK +2) ”)2(" *2)
LHS =[1-2"+3 -4 +..+(=D""k*1+[(-D" 1.(k +1)?
- EEE oy

(D) (k +1)[(—1)k L (k4D
- 2 2 2

(k +1D)(k +2)
2

. (k +1)[1k+1]

1=(=1

= (=1 =R/HS

(5) 1 2 3 n n —1— 1

20030 41 7T (4! (n+D)!
Solution

At n =1
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LHS=2=1
212
R/HS:I—l:l SJLHS=RHS
2! 2
At n=2
LHS=24223
21 31 6
R.HS:I—l:é ~LHS=RHS
31 6
At n=k =
1 2 k 1
So—t =+t =-1
21 3! (k +1)! (k +1)!
At n=k+1
2 K k+1 1
—+—+..+ + =1-
21 3! (k+D! (k +2)! (k +2)!
L.HS:[i+£+...+ k 1+ il
21 31 k +1)"  (k +2)!
TR S, 2 ) B SR S A S S
(k +1)! (k +2)! (k +2)!
1
T (k+2)!
6) 2+2°+2°+ ... +2"=2(2"-1)
At n=1
LHS =2
RHS=22'-1)=2 - LHS=RHS
At n=2
LHS =2+2"=6
RHS=202"-1)=26=3x ~ LHS= RHS
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At n=k =
S2+2%+ . 42k =20F )
At n=k+1

2+22+2°+ . 2+ 2 =22 -

W LHS=[2+2*+2+... +27+2!
=202 - 1)+ 2!

=2-2—2+2"

=2.(2"h -2

=202~ 1) #

~ LHS= RHS

S =

(7 P+ 3+5+ . +Qu-1’=n*Q2n*-1)
At n=1

LHS=1 =1

RHS=1"Q21= (1-1°x . LHS= RHS
At n= 2

~ LHS=1"+3=28

RHS=2*2-2"-1) =28 . LHS= RHS

At n=k =
L PH3P+5+ 0+ Q-1 = BQE-1)
At n=k+1

P+33+5+ .+ Q-1 +2(k+1)Y = (k+ 1) Q&
+1)° 1)
LHS=[P+3+ ... +2(k=1)]+Qk+1)
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=K QK- 1)+ 2k +1)

=2k + 81 + 4k + 6k + 6k + 1

=(k+ 1) = [2(k + 1)* = 1]

~ LHS= RHS
70
1 n
—t——+ . tn=—
Ix2 2%3 n+1
At n=1
LHS =1 —1/2
1x2
RHS=—_1 —1/2
1+1
At n=k
L L+...+k:L
1x2 2%3 k+1
At n=k +1
L+L+...+k +(k +1):—(k+1)
Ix2 2x3 (k+2)

L.H.S:[L+...+k]+(k+1)
1x2

ok
k(k+1)
1
—m+(k+l)
14k +1
(k+1)
_ k+2 _R
(k+1)

+(k+1)
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[R(cos@+tsinf)]" = R"[cosOn +tsinOn]

R = const
At n=1
[.h.s = R(cos@+tsinf) = 6
R.h.s = R(cos@ +tsinf)

At n=k
[R(cos@ +1tsinH)]" = R*[cos Ok + tsin Ok]
At n=k+1

[R(cos&+tsinB)]*" = R*"[cosO(k +1)+sin O(k +1)]
I.h.s = R*"[cos O +sin 8]*""
= R*[cosO(k +1)+sinO(k +1)]

=Rhs
(3)
n=n+1
At n=1
lhs=1+1=2
Rhs=2
At n=k k=k+1
At n=k+1
k+1=Fk+ 2
LHS=k+2 =(k+1)+1=k+2=RHS
@)

1-22+3% &+ L+ ()"t = () =
n(n+1)
2
At n=1
LHS=1

R.HS= (—1)‘)%:1
At n=2
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LHS= -4
R.H.S= (-1) %:—4

At n=k
BT | | Gl (k2+ D
At n=k+1
1-22 432 =4 44 (=D (k+1)? :(‘”"W

=22 432 =4 4+ (=1 K]+ (1) (k+1) =

o B ey = £

(k +1)(k +2)
2

[k + 2k +2] = Lh.s

= (1) =R/HS

1 2 3 nll

et =1-
20 31 4 (m+D)! (n+1)!

At n =1
LHS=1 =1 _1
21 2x1 2
RIHS=1-—-1-1_1
21 2 2

At n=k+1
12 k+1 1
+...+ 1-

203 kel (k+2)!

L.H.S:i+£+...+ ktl =[i+£+...+ k ]
2! 3! (k+2)! 21 3! (k+1)!

(k+1) 1 k+1 1 k+1

=l =l ]
T k+2)! k+DU (k+2)! (k+1)! 9k +2)!

e kt2-k-1]
(k+2)!

1
(k+2)!
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RHS =1-—!

(k+2)!
(6)
2+2%+2°+ . 42" =2(2"-1)
At n=1 Lhs= 2
RHS=22-1)=2
At n=k
2+22+2°+ .. +2F=20 - 1)
At n=k+1
2+2°+2° +...+ 2F=20%D_ 0
Lhs=[2+2>+2°+ ... +29 + 2*!
=2.(2"+ ) +2=2"+2+ 2
:2[2k+1]+2
:2[2k+1:1]
=RHS
(7)
P+ 3+5+...+Qn=1Y=n"Q2n" - 1)
At n=1
LHS=1 =1

RHS=12-1) =1

At n=k
P+3+5+... + Q=17 =K QK-
At n=k+1
P+3+5+.. + Qk=1Y+2k+ 1) [2(k+1)* = 1]
LHS=[P+3+ ... +2(k-=1)1+Qk+1)
=I* QK — 1)+ Qk+ 1) =2k"+ 8k + 4k + 6k + 1
=(k+ 1" —[2(k+1)*—1] = RHS
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f(xo) _f(xl)

Xo =X

f'(x)=lim

f(xl):O
v e J () - f(x)
f (XI) B xlol_rgl )Co - xl

i S0) =0

Xo—>X X . —X

0 1

(1)
X
f'('xl) = f'(xo)
£ = lim 1) 2)

1 @

1

hmf(x)—hm Sx)

5 X, = X,
hmf'(x) hm S(x%) =0
%X, — X,
f)
xO xl
[O] X =X

Fiy-LE) g
x x

)
£1(x)

hm f(x,)—
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L SG)

79
2x+3
(1) (x+D)(x-3)

22043 _ 4, B

(x+1)(x=3) (x+1) (x=3)
(x—3)(x+1))

2x+3=A(x-3)+B(x+1)

x=-1, x=3

At x = -1
—2+3:—4A:>A:_T1
At x = 3

6+3=4B:>B=%

-1 9

2x+3 __ 4 + 4

(x+D(x=-3) (x+1) (x+3)
(2) 2x* +10x -2
(x+1)(x*-9)

-219 -
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2x* +10x -2 _ A N B N C
(x+D(x+3)(x-3) x+1 x+3 x-3
22 +10x—2=A(x—3)(x +3) + B(x = 3)(x + 1) + C(x +
D(x + 3)

x=-1,3,-3
At x= -1
2410-2=+84= 4=0_3
8 4
At x=3
18430-2=24C = C=0_23
24 12
At x=-3
18-30-2=128—B=_2_"
12 6
5 -7 23
2x2+10x=2 _ Z N Z 4 E
(x+D(x+3)(x-3) x+1 x+3 x+3
3) 4X +2X:'4
(2X +3)
A B C
2X+3 (2X+3) (2X+3)
X+3)2)
AXP+2X+4=AQRX+3)+BQ2X+3)+C
-3
at X =—
2
10=C
XZ
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4=44 = A=1

X
2=12A4 + 2B
2B=-10 = B=-5
2X°42X+4_ 1 -5 10
(X +3) 2X+43 (2X+3)° (2X+3)
) ;
(X -1)(X*+X-4)

1 __ 4, BX+C
(X-D(X’+X-4) X-1 X’+X-4
1=AX+ X-4H+BX+O)(X-1)
at X=1
1=24 = 4=t

2
X2
A+B=0
CcC=1
p=l1
2
1 -l lX+1
2 2

= +
(X-D)(X+X-4) X-1 X’+X-4
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(5) X’ =2X+5
X*+6X+7)
X’=2X+5 _  AX+B L AX+B
QX +6X+7) 2X*+6X+7 (X +6X+7)
X +6X+7)2) X
XH2X+5=(U X+B) QX +6X+7)+4, X+ B,

X3
24, =0 = A4,=0
XZ
1=64,+2B, = BI:%
X

2:7A1+6B1+A2 = A2:-1

6:731 + Bz
3
B2:E
1 3
X'=2X+5 o —X#,

= +
QX*+6X+7) 2X’+6X+7 (QX*+6X+7)
73

2n’
1) 1=
(1) py=2"
Solution
i . 2nt 2xeo
limz, =lim =" =
n—ree mep+]1 140

. Sequence is divergent
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2) 2)=—
—

e
limz, =lim L . = 0
n—seo n—e g — 3 1_3 1-0

oo

. Sequence 1s convergent to zero
-1
) 2i=—7
n—3
-1

limz, =lim =0
n—yoo Nn—>c0 n— 3
Sequence is convergent to zero
= 1
( ) 2 3 _Zl In(n+1)
= 1
(n+Dln(n+1)
> >3 —
o n(n+1) o (n+Dln(n+1)
- Sequence is divergent .
2
( ) 121: n+1
n-1 1-0
im =——=
—ep+1 1+0
So divergent
3 S
) 25
n 2
lim %t = i D 27 DT L
e g "—>°° 2" nt mo= 2p 2
convergent
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P

n2"
n+2 n2" . n 1
1m - =lim =<1
e (n + 1)2n+1 n+2 n—so0 2(7’1 + 1) 2
convergent
i ln(n)
J‘ In(n ) lnz(n) ) _
1 n 2 X
Divergent

i 3n-1
lim = 1 <1
n—e 39 — 3
convergent

97
(DY iy
llmn\/(xT —|X+l|<1

n—o0

-1l<x<1

On -1<x<l1
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@Y 3

= 2n +1'

P (n+1)! 2n+1! L x*.(n+1)!

: 2n+l lim =
convergent on R

()zu ay

(2n+1)!
LD @edD! L (x-a)
300 (2n + 3)! (x—a)" = (2n+3)(2n+2)
convergent on R

(4) Z’;; !

3 2.2
limnvn'x" =nx

n—o0

{ x=0}

1 (n+1)x " Ly (n+l) _ 1
N—yo0 enx+x . nx e nex e"
e >1 e >e x>0
10,9
1 1 = 1
6) —+——. -
(6) l+x 1+x° le 1+ x"
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(7) in(x)+1n’........ > 1n"(x)

limny/ln"(x) =1n(x) <1

x>1
108
(1)
1) 3X+Y=-5
2X-3Y =6
3X+Y:—5} 2 1 -5‘
f—
2X+3Y=6 2 3 6
X
3X+Y =-5 2 1 -5
Ty 28 (P 7028
3 3 33
Y=4
. Y=4
3 X +4=-5 = X =-5
2) X -2Y =-8
5X+3Y =-1
X+2Y=—8} ‘1 2 —8‘
-
5X+3Y =-1 5 3 -1
X

X-2Y=-8 1 -2 -8
=
13Y =39 0 13 39
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~Y=3

X-16=-8 = X =-2

3)- 1X—Y -2Z=0 . 9X-Y-3Z=0 |,
2X +4Y -77Z=0

7TX-Y-2Z=0 7 -1 2 0

9X-Y-3Z7=0 =9 -1 -3 0

2X+4Y-7Z=0 2 4 -7 0

. X
7X-Y-2Z=0 7 -1 2 0
%Y—ﬂzo =10 z -3/7 0
7 7 7
30/7Y-9/7Z =0 0 30/7-9/7 0
Y

7X-Y-2Z7=0 7 -1 2 0

%k
% —3—=O =10 E 3/7 0
7 7 7
36/7Z2=0 0 30/7-9/7 0
~Z=0 , 2/7Y  -3/7X0=0 = Y=
0

7X-0 2X0=0 = X=0

4 3X-Y+Z=-2 , X+5Y+2Z=6 , 2X
+3Y+2Z=0

3X-Y+Z=-2 3 -1 1 -2

X+5Y+2Z=6;,=|1 5 2 6

2X+3Y+Z7Z=0 2 3 1 0
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3X-Y+Z=-2 3 -1 1 2
16Y +5Z =20 =1 16 5 20
11/3Y +Y36=3/4 0 11/3 1/3 4/3

3X-Y+Z=-2) 3 -1 1 =2
16Y+5Z2=20 = 16 5 20

39y =0 0 39 0 0

~Y=0 16 X0+5Z2 =20 = Z=4

3 X-0+4=-2 = X=-2

5) 5X+3Y-3Z=-1, 3X+2Y-2Z=-1, 2X-Y+
2Z2=238

5X-3Y-3Z=-1] |5 3 -3 -l

3X+2Y-2Z=-1;=[3 2 2 -l

2X -Y+27Z =8 2 -1 2 8
X
S5X+37-3Z=-1 5 3 3 -1
1/5Y -1/5Z =2/5 — 0 1/5 -1/5 -2/5
_11/5Y +16/5Z =42/5| |0 -11/5 16/5 42/5
/
5X+3Y-3Z=1 5 3 3 -
1/5Y—1/5Z ==2/5 =10 1/5 -1/5 -2/5
5/5Y =10/5 01 0 2
Y=2  25-755-=2 = 7Z-4
SX +2X3-3XY=1 = X=1
114
300 100
D)ls 40 o1 o0
36 1 |0 o0 1
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0| = rowl —row3

1

1

0

1

0| — column 2 — 6 column6

-1

1
0 6
1

0

-6 -1

3

-1

0 0

1

0

()

6

'53 1 0 —>row2—%rowl

1

o O

S T O

on O O

S © —

o — <2

—_— O O

-12. 0 0
1
6

0

-2

1

0| = rowl —row?2

1

0

-2

1

1

0| = row 2+ row3

90 0

9 0 3

2 0
1

-3

9 0 3

0| — colum2+ columl

2 -2
1

-3

90 0

-1| = columl1+ 3 colum3
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9 0 O
01 4 2 1 1]|—=columl+ colum3
37 2 -1 1 -2

90 o |5 2 2
01 4 [2 1 1 %rowS-% rowl

07 2 % % -%
9 0 0 S5 2 -2
2610 1 4 % % 253 — 7row2- row3

00 20 |2/ 5/ 4
% B

1 0 0 5002 -2
26Xg |0 1 0 1003 403 493 — row2- 4rowl

0o %%’43

3 2
2
26 -
100 40 49
2 5 4
2 1
3) 4=
0 -5
1 .
A= adjA
det 4
det = 2 X(-5) =(X0= -10
” 50-1
a =
7o
L —1}5 -l Jo.s 0.1
1000 2 o 2
2 0
4) 4=
0 -1
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detA= 2X(-1)-0= -2

st 0
a =
7o 2
P [
210 2/ [0 1
-15
5) 4=
2 3
detA=(-1)X3 -5X2 =-13
il S
a =
i S
__13 _5 3 -5
BEE) ~13 1
1312 -1 %3 %3
121
-4 0
) F(d)=|4-41] ‘O -3-1‘
1-A)(-3-A)=0=>X,=1,X,=-3
X=1
AX = AX
1oollx| |x,
0 -3x,| |X,
X, +0=X, = X=X X :X,=X:0=I1:0
0-3X,=X, = X,=0
1
0
A=-3
1 oollx,| [-3x,
0 -3x,| |-3X,
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Xl = -3X1 X1: 0
-3X,=-3X, X,=X = X :X,=0:X=0:1

0
X, =|
b)
24 2
=0
%
(2 DB-A)+16=0= 4 -61-16+16=0
~1=0 A=0 ., A=6
-2X1+ 2X2 =0

-8X1+ 8X2: 0 = X12X2:1:1

2 2| lex,
‘—8 S‘X _‘6)(2
2X+2X,=6X,
BX+8X,=6.X,
2X,=8X = X;: Xz=1:4

_1
.
0-4 0‘=0:>/1=0
0O O
0 ox,| |o
o ol
X =0
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Xz =0 = X]:XQZO:O
|
0
d)
4-4 0 O
0 84 0]=0 = (4-A)B-A)(6-1)=0

0 0 6-4
A=4 =8 , A, A=6

4 0 ox,]| lax,
0 8 0|.X,|=4x,
0 0 6|x,| |4x,
4X1:4X1 = XlzX
8X2:4X2 = XZZO
6X3:4X3 = X3:O
A XX i X5=1:0:0
1
X, =10

1

4 0 ox,| [8x,
0 8 0|x,|=[8x,
0 0 6|Xx,| [8x,
4X,=8X] = X=0
8X,=8X, = X=X
6X;=8X; = X3=0

A XX i X53=0:1:0
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4 0 0| l6x,
0 8 0|x, =l6x,
0 0 6x, l6x

4X1: 6X1 = X1: 0

8X2: 6X2 = X2:X

6X3: 6X3 = X3: 0
.’.Xl:X2:X3:O:O:1

X, =0
1

e)

34 0 0

2 14 6/=0 = B-AA+A—12)+2(24—-6)+3(-4+1+1)=0
0 2 -4

G-AD[A-A-12-4-3]=0
A=3, A=-4-885 , A=3-885

3 -2 3||X,| X,

-2 -1 6|X,|=3X,

1 2 0}jX,| X,
3X,-2X +3X; = 3X

22X - X, +6X; = 3X

Xi+2X, +0= X5
-2X+3X5=06 X X3 =3:2
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X1:3X3 = 3X3 = X1: 0
X X X3=0:3:2

0
X, =03

2

3 2 3|lx| |-4.9x,
2 -1 6x,|=|-4.9x,

1 2 o|x,| |-49x,

3X1- 2X1 +3X3 = -4.9X1

-2X1 - X2 +6X3 = -4.9X2

X1+ 2X2 + 0 = -4.9X3

79 X; - 2X, +3.X;
2X+39X,+109X3=0
X1+2X2+4.9X3 = Xlz(—ZXz -49X3)
-2 (-2X2—4.9X3)—2X2:3X3:0

4X2+9.8X3—2X2+3X3:O = X22X3:-32:

X, =-2X, +147/46 X, = X, :2—3){2
X1:X2:19:64 , X1:X3:64:-30
X1:X2:X3:19:64:-30

19
X, =| 64

=30

3 2 3|lx| P.ox,
2 -1 6x,|=p.9x,
1 2 0|x,| [3.9x,
3X,-2X, +3X; = 39X,
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-2X1- X2 +6X3 = 39X2

X1+ 2X2 + 0 = 39X3

-O.9X1:2X2 + 3X3 =0

-2X1—4.9X2 +6X3: 0

X1+2X2—3.9 X3 = Xlz(-2X2+3.9X3)
D(-X+39X)- 49X, + 6X;=0

4X2- 78X3 - 49 X2 + 6X3 =0

-09 X, -18 X3 =0

X2:-2X3 = Xz: X3 =-2:1
X1:4X3+3.9X3

X1: 7.9 X3 = X1: X3 =79:1
X1:X2:X3:7.9 -2 01

7.9

f)

34 0 0

5 40 0|=C-AHE-D)1-1)=0
36 1-4

A=3 ., A=4 , A=I

30 olx,| B,

5 4 0\Xx,=px,
36 1lx,| Bx

3X1:3X1 = X1 =X

55X +4X, =3X,

3X1+ 6X2 :X3:3X3
5Xi=-X, = X1: X,=-1:5
3X1—30X1+ X3:3X3
X1:X3:-27: 2
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X1: Xz =-27: 135

.'.X1: X2 . X3: -27 : 135: 2

—27
X =|135
2

3X1 :4X1 = Xl =0

5X1+4 X2 = 4X2

3X1 + 6X2 + X3 = 4X3

6X2:3X3 X2

.'.XIZXQ . X3: 0 :
0

X, =l

2

3X1 :Xl = X1 =
5X1+4 Xz -X2 =

Xz =1:2
1:2

0

XzZO

3X1 + 6X2 + X3 = X3 = X2:X

X :X:X5=0:0
0
X, =0
1
114
30 0)(X,) (X,
54 0| X, =4,
36 1)x,) (X,

3X, =X, > X, =0
5X,+4X,=X, > X,=0

|
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3X,+6X,+X, =X, > X,C:CeR

3X,=3X, X, =C:CeR
5X, +4X,=3X,
3X,+6X,+ X, =3X,

X X: Xx5=0C: -5C: 13,5C

=1:-5:13;5

1
X,=| -5

~135

A=4

3.0 0)(X,) (4x,
54 0| X,|=]4x,
36 1)lx,) l4x,
3X,=4X, - X, =0
5X,+4X,=4X, .. X,=C:CeR
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3X, +6X,+ X, =4X,
0+6C =3X, . X, =2C

150

-4 0
F(A)=|A-A+1= =0
0 -3-1

F(A)=(1-2)(=3-1)=0
s A =1 A =-3

AX = AX

10X (X

0 3)lx,) \Xx,

X, =X,

" 3X, =X, ]
w4X,=0 X, =0
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1 0\, -3X,

(0 '3J[X2]=(_3ij
X, =-3X 44X =0
3X,=-3X, X=X,

-8 8

) A:(—z Zj

—16—-81+2A+ 47 +16=0
AP —61=0 AA-6)=0  ..1=0, 1=6

AX= 21X

()
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oS O b
S o0 O

(d) {

N © O
N—

4-4 0 O
F(A)A—ﬂ+l{ 0 84 0 JO
0 0 6-4
s @-AD)B-A)6-4)=0
A =4, A =8 A =6
AX= 11X
A =4
4 0 0)JX, 4X,
{0 8 0 X, |=|44X,
0 0 6)l4X, 4X,
4 X =4 X p 8 X,
6X3 4.X;
X, = C: CeR , X =X =0
C
X—[OJ:CER
0
A, =6
4 0 0)X, 6.X,
{0 8 0] X, {6)(2
0 0 6)l4X, 6.X,
4 X; =6 X , 8 X,
6X3— 6.X;
X, = X, ., Xy=C: CeR

4 X,



F(A)=(4-1)=

A+ AT+214-45=0
A=A=3, A=-5

:CeR

2-4
-2
1

9

3

-1-4 6
A

242 -



22X - X + 6X; =3X,
X +2X, =3.X;

1
X=|1
1
A=-5
2 -2 3)\(X, -5X,
2 -1 6 Xz = _5X2
1 2 0 X3 —5X3

22X -2X + 3X5= -5X,
22X -X + 60Xy = -5X,
Xi +2X, = 5%

Xl:Xz:X:;,:l:'z:l
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3-4 0 0
F(A)=(4-A)=| 5 410 |=0
36 1-4

B-AHE-AH(1-4)=0

ﬂzz3 13:4
s A =1
AX = iX
A=1
30 0)(X,) (X,
540 X2 = X2
36 1)\lx,) |Xx,

3X, =X, > X, =0
5X,+4X,=X, > X, =0
3X, 46X, +X,=X, > X,C:CcR

0
X,=|0 [:CeR
C

30 0)(X,) (3X,
54 0| X, =34,
36 1)lx,) (3x,
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3X, =3X, . X,=C:CeR
5X,+4X,=3X,
3X,+6X,+X, =3X,

X X5 X553=C: -5C:
=1:-5:135
1
X,=| -5
~135
30 0)(X,) (4x,
54 0| x,|=|4x,
36 1){x,) l4x,
3X,=4X, > X, =0
5X,+4X,=4X, . X,=C:CeR
3X, +6X,+ X, =4X,
0+6C =3X, . X, =2C
X1:
0
X, =1
2

- 245 -

13, 5C



det A4 12
4 0 O
adJA=|-5 3 0
18 -18 12
4 0 O
-1:L S5 30
12
18 -18 12
l 0 0
3
12 30
12
1,5 -18 12
1 2 3
2) |510
1 61
det 4 =

adJA = { -2 15
1

29 4 9
1

78 78 26

Al = i '_1 i
78 39 26

29 2 3

78 38 26
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det =-3-10 =-13

3 -5
adJA =
-1 -1
S5
3 13
2 1
13 13

—
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